Comparing fractions *

2 3 5
Whi ; -~ -~ 9
thh 1s greater, 3 or : 1

The common denominator of 3 and 4 is 12.

Which is greater?

1 oo L S or L Lo S 4 o L
- 3 6 9 2 8 9 3
2 o3 Lo 8 8 oo L oor L
5 8 10 9 10 8 2 3
2 oo 2 4 oo L 3 oor 2 3 oor L
3 8 5 3 5 3 8 -

Which two fractions in each row are equal?

13 4 3 1T 5
4 8 12 12 8 8
> 6 1 8 1 3
8 9 10 12 2 4
2 6 1 3 4 2
12 14 14 8 8 12
s 3 L 4 9 6
8 9 6 7 10 7
3 5 22 3 4 1
10 15 10 15 10 15
Put these fractions in order starting with the least.

15 2
2 6 3

50311
8 4 12

2 8 3
3 15 5
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Comparing fractions *

2 3 5
. )
Which is greater, 3o o

The common denominator of 3 and 4 is 12.

2 & 3 9
50?:? and T: 12

3 i areat
7~ o greater.

Which is greater?

Lot L Sy 5 Ly 5 4,1 4
4 3 3 6 G 2 g & 9 3 9
Lzy3 2 1,8 & 8,1 7 T2 2
5 8§ B 0o 9 9 10 8 & 2 3 3
2l 2 4Ll 4 342 2 3,1 B
3 g 3 5 3 3 5 33 8 4 B

Which two fractions in each row are equal?

1l 3 4 3 1 5 1 3
4 8§ 12 12 8 8 4 and &
5 6 78 1 3 6 &
8§ 9 10 12 2 4 5 and 4
26 1 3 4 9 7 . 4
12 14 14 8 8 12 17 and -
3 3 2 4 9 6 3 2
8§ 9 6 7 10 7 5 and &
3 5 23 4 7 7) %
0 15 10 15 10 15 o and 5
Put these fractions in order starting with the least.
15 2 12 5

2 6 3 2 5 5

5 3 ou s B N

s 4 1 & 4 12

2 8 3 e 35 Z

3 15 5 B 5 3

Difficulty in finding a common denominator indicates a weakness in times tables

knowledge. Children need to convert all the fractions in the later questions into

a common form before answering the question. Be careful that they do not try to
guess the answer.
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